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Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

o7 fRATCIIA et Tee frr

{a) Who is considered as the father of
existentialism?

SeHe e fRoreel 1 517 391 =7 2
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(b)

(c)

(d)

(e)
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(2)

Who is the author of the book, The
Phenomenology of Spirit ?

The Phenomenology of Spirit 2®371 (G3F
I ?

Heidegger’s philosophy is basically a study
of ontology/ethics/epistemology.

( Choose the correct answer )

RXOIRA T Jore: ogfn/ AR /emRme
SYEH |

(o= TeIch! A1fR Sferear )

The second phase of  Husserl’s
phenomenology is known as pre-
phenomenology/descriptive phenomenology/
transcendental phenomenology.

( Choose the correct answer )

2Retd 2SI RS TR e-aSiRmy

2T @R /SR 2O e = |
(o= To0h1 1R Bfereay )

Which of the following philosophers was
awarded Nobel Prize but declined to
receive it?

O (T TR (e {61 R cafter R
(S8 &R 1 AfR=A 2

(i) Martin Heidegger
Mo e

{ Continued )

()

(g)

(h)

(i)
()

22A/275

(3)

(ii) Edmund Husserl

GG 2R
(iii) Jean-Paul Sartre
) ]
( Choose the correct answer )
(= TeCoT AR fered )
Name the first stage of existential
transformation of man according to
Kierkegaard.

FFMET o T SR RIS oW
WICOE N o7 |

‘““Man is a constant surprise to him.” Whose
statement is this?

‘S fAed e 9 17 G2 T IPTR PR 7
“Husserl developed his phenomenology as a
reaction to naturalism.’”’ Is this statement
true?

‘el opfeRrE  efefem oA (969
AN PP T FiRfRe 1 PR o5 ?
What is the etymological meaning of the
word ‘Phenomenology’?

‘Phenomenology’ *HBH JPeeifese wel & 2

Whose  autobiography is  entitled
‘The Words’?
“The Words’ F1¥ SIRIGIEA! ?
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2. Answer the following in brief : 2%x5=10 3. Answer any four of the following questions :
oS RATARR b Ta f - 5x4=20
fafeiRe PR B @ oieR e faa :

(a) Match Column—A with Column—B ;
(a) Distinguish between ‘being-in-itself” and

T—F-9 0 Be— TeaTm
‘being-for-itself’ in Sartre’s Philosophy.
Column—A Column—B e AT T SRy W FHiEe widw’S
TE—F TE— ~(18{ [Roe F40 1
(i) Kleﬂ;‘;éaﬂfd (1) Logical Investigations (b) “All consciousness is always consciousness
s PIce 4 of something.” Explain the meaning of this
(ii) Sartre (2) Being and Time ; \
= Husserlian statement.
(iii) Heidegger (3) The Concept of Anxiety SR GOTR T 1 GO el 1”7 =R
e 2 qe9 o A A
(iv) Husserl (4) Being and Nothingness (c) Explain the concept of intentionality in
i Husserl’s Philosophy.
(b) What, according to Heidegger, is the gRefd A SPiR ¥R (intentionality)d
' difference between Being’ and ‘Existence’? YRETEDT T 1 |
(d) Explain the significance of Kierkegaard’s
: ] lq%—’
CRRCTATA D =TT ¥AIF LR view that ‘truth is subjective’.
(c) What is bad faith? Pty e IED  GRNGR - ©Ief
RiRHIEEIN
-t 18 2
2 (e) Discuss the nature of ‘Dasein’ in Heidegger’s
(d) What, according to Husserl, is ‘noema’? Philosophy.
w1l T 6 T A noema 2 ECIRT e Dasein’d  4[EICO!
el 94T |
(e) Name two atheist existentialists. (f) Explain Heidegger’s concept of Philosophy.
st PRI SRR T e (RRUSIT FR ARTB! 71 31
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4.
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“Existence precedes essence.”” Explain and
examine the statement. 10

‘o (M 1@ 1”7 SR i S Row
el

Or / =331

Critically explain Sartre’s concept of freedom.

dq FRTOR YRENOH RERTe 0101 SSRCerRT |

What is phenomenological reduction? Explain. 10

SIfeTE R [ 2 Tmm w1 1
Or / 1331

Discuss different phases of the development of
Phenomenology.

o R RfSa ~=HEPER Seem-l 4 |
What, according to Heidegger, is authentic
existence? Discuss. ' 10

@3oead Teo I S B 2 e 39 |
Or / #1331

Discuss after Kierkegaard the three stages of
human existence.

FoMET IO T+ g [OH01 B9 Scems=1 341 |

( Continued )

(7)

7. Explain Phenomenology as a Philosophical
method.

v ol fRo1ee erSIfem W 41 |
Or / M1
Which feature of existentialism do you think

reflects existentialism as a Philosophical
movement? Give reasons for your answer.

SRR R (SR e GF A ST
o T fdH9 27 ONE e[ WIS e
IR |
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